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[root@dcl-qns01l ~]# free -m

total used free shared buff/cache available
Mem: 15876 4918 7750 792 3207 9987

Swap: 4095 0 4095

[root@dcl-gns01 ~]#
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Checking swap space for all VMs...

Checking swap memory usage on pcrfclientOl...[FAIL]

Swap usage is 1835 MB. This will Tikely Tead to a slowdown in your system!
Please ensure your memory 1is provisioned properly.

If systems memory usage is no longer high, you can reset swap with: swap2ram.sh
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<#root>

#du -h --max-depth=0 /var/lib/carbon/ whi sper/ci sco/ quant un gps
#nmonit stop grafana-server
#nmonit stop carbon-cache

#vi [etcl/carbon/storage-schenas. conf
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<#root>

#monit start carbon-cache

#nonit start grafana-server
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<#root>



#nmonit stop carbon-cache

#cd /var/li b/ carbon/whi sper/ci sco/ quant uni qps

#find ./ -type f -nane '*.wsp' -exec whisper-resize --nobackup {} $1 \;

#chown - R carbon: carbon *

#nmonit start carbon-cache

#nmonit restart grafana-server
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<#root>

#run df —h: di sk space should reduce or |ess than previous result

#du -h --nmax-depth=0 /var/li b/ carbon/whi sper/ci sco/ quant unf qps
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3. wpdsu IJoulbJ:# swapon -a



agy 030 IJUjapd )

Ujapw Cisco o3l Idpuu s wlgwdaslp papged pu ldU@us!o 1dIds?
olUwUbyss JU@sse pawals sep JUpuwwaspisy Wis apse lual- 1deldp
wUgWop IJalyes. sjats pdlabe Iy Twusd Ojaps Tdss Ju CWgy s@sw@s Jel
og ldald pe ldYjapd Idlauyl@ss 1O (s s@pol pUjap pawyd. ads Cisco
Systems puu(sgdsol g 988 030 IJUjapld gl widiage SlGel lds
ldewvoys Idlvadsis IJlueds (Idylub pogus)).



